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1. Answer the followin® QUestion . 1x10=10
. x =
o e T fir -
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(2)

(3)

% ‘];V:;t dt?es K refer in equations used by
ar in hijg growth model? (h) What is backwash effect?
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(c) What j () Define economiC growth,
S meant . . .
o by Gini Coefficient? o e
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(d) Wh : Which sector 2 s the surplus
) ﬂlea;:wfstltutes the ‘invisible hand’ in 0 labour in Lewis Modelp
SSical theory of growth?
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(A Wh (@) Is there any On of per capi
vicizu: 5 Popularized the concept of income with inedUalities of jncome?
Circle of poverty?
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s theo?e ahcause of growing importance (b) Di stinguish petween GNP anqg GDP.
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g (c) What do you mean by human capital?
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(4)

(d) How ek
instrucan division of labour be an
Ment of growth?

mﬁ%tﬂ%uﬂﬁ%mﬁ?

(e) Mention tw,
of laboyr,
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0 basic assumptions of
S theory of unlimited supply

Answer an
Y four of the following questions
Sx4=20

the characteristics of

(b)  Expla;
plain
concep Wlth' .the help of diagrams the
Vicious circle of poverty
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(c) Expla;
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deVelgpmenlze basic indicators of
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(e)

(g)

(5)

What are the shortcomings of Lewis
theory of unlimited Supply of labour?

&2

Explain the differnt types of capital-
output ratio.
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Explain Inverted-U’ curve 61’ Kuznets.
W Inverted-U’ (391 AT 41 |

What are the conditions of palanced
economic development?
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Answer any four of the fonowing questions :

10x4=40
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(a) Examine the apProPriateness of gross
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as measures of country’s economic
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(7)

(6) _
i) What is incremental capital-output
(b) Discuss the Harrod-Domar model of ratio? Give its uses and limitation in
growth planning.
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() Explain the vyarious obstacles to
economic development. (g) Critically examine the classical theory of
development.
WQIZQ‘\in %‘ﬂw ﬁi}—ﬁ ﬁ{\gqﬁi$ﬂﬂ§ [ Bl
% e TaER TS wgrhr  smcemsn
: ST21ed e 41 1
(d) Explain the jpdicators of human
development jndex. Why is it regarded |
as a better megsure than per capita o /
income a5 4 measure of development? :
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growth Strategy. Is it @ suitable strategy
of €Conomj. development for a
devdoping country?
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